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B B.
9. THIREPIEFIEMEA BRI . - 7
A, flz)=3*=—3~* B. f(x)=x(1—x)
C. f(x)=In ;ii D. f(x)=z"cosx
B XMFACEBR f(—o)=—f(x), R A2 REGD M8 KL
O 2 B.
10. HIB M /() = In 1 A L,

® EH () =2[In(1—z2)—In(1+2)],FTLA
f(—x)=(—2)[In(1+x)—In(1—x) ]=—=2*[In(1—2) —In(1+x)]
=—f(x),
Bl f(2) R AF R 8L
11, AW T 31 ek a0 S .

1 y=(%)x; () y=aklgs,

ﬁ (I)M{£:§:11\129$%&11<12’m$

o= stea=(3)" -5

B fCx)>f(an), BT y=(%)*’ FE(—oo, +oo) b N BB RE
(Z)Xd’{fﬁ VIR &) 91:%1& J-‘l<12 ‘DIIJ
flx)— f(x)=x, +lgey—x, — gz, =(x, —x,) +lg jTl<O’
2

Bl fa)<fx)  FTBA y=x+lgz #E (0, +o0) bk B iR 4.
12, ELHEHR b FHRKF LA RRNE
A. sine” B. arcsinztarccosx
C. zcosr+tanx D. e
B XTT I D,y e = Al e A R B
HURE3E D,
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EHS@1.3
1. BH F()=22—3z+1,K £, fz+1), f(sinz) » fLF()].
B f()=1*—3+1+1=—1,
fla+1D)=(z+1)*—3+ (z+1)+1=2*—2—1,
f(sinx) = (sinx)*—3 * sinz+1,
FLA@I=[f(x)—3 * flx)+1=(2*—3z+1)?—3(z*—3z+1)+1
=gt —6x*+ 8zt +3x—1.
2, WER f(x+1D)=2"—2—1,3K f(2).
B ASu=z+1,0 z=u—1,RA fx+DFEH
fy=w—1*—(u—1)—1=u"—3u+1,
Frd f(x)=x"—3x+1.
3. & f(z+2)=x"—2z+3,K fLF(].
B AN fGatD=2t—2z+3=[(z+2)—2—2[(x+2)—2]+3,
il flx)=(x—2)"—2(x—2)+3=2"—6x+11,
WM F(2)=3,8 fLF(2)]=f(3)=3"—6X3+11=2,

2422 +2, =<

0
4, & f(x)= 3 » 3R A1),

1—z%, &
R Y10 B, B 2<<—1 B,
flat 1) =(z+1) +2(z+1)2+2=2"+ 3 + 3z + 1 4+ 2(a* 22+ 1)42
=2 +522+Tx+5;

W 2+1>0,00 2>—1 8, fla+ 1D =1—(x+1)!=—2*—2x.
2P bl Tad5s 51

—&F—2% >—1

5. A f(o)=e", flo(x)]=x+1,K o(x) FKA.

i HT flex) =" =2+1,f#% o(x)=In(z+1).

6. SReRH y=log, vz +log.2 M K%L

& i y=log, vz +log,2=log.2vx ,1& 2z =4".
Mz =271« 22 =271 fF A x=4%"", BDBTR R B0 R R BOR: y=4""".

7. REB y=1+1g(z—2) 5EH y=g(O)WEFLRXTHEHL y=2 X#H, M g()FF

W fx+1)=

A, 107*—1 B. 10'+42 C. 1077 *+1 D. 107" —2

B OAHENH y=1+1ge—2) MR REHN y=10""+2, F TR 5 H R B
BT y=x MK, g(x)=10""+2.
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8. K4t T 51 oR R ply WP JL A2 A4 55 oK BOR & T ARG 7

(1) y=sin2z; (2) y=e* ;
(3) y=+/In tan/z ; (4) y=In*arccosz’.

B (1)y=sinu,u=2x;
()y=e",u=z";
(3 y=+u ,u=Ilnv,v="tanw,w=+x ;

(4)y=u’ ,u=Inv,v=arccosw,w=2z°,

B>/ 1.4
1. B—HEEBRNARERK I BRI RE o BB H R HEE .

W 1=2(x+2) LK >0,

2. HSKE M —AEB N VG B AT Rk 16, 50K B A 2 W ARERR AR - 1 R
FF W0 7E 1 o B RE SR
\4

B ORSEMN SIEEERN r B AW V=nrh, TR h=—

’
nr’

\4

71'7'2

S=2nrh+2nr'=2nr

+27U‘2:2(¥+TU‘2) )
LB >0,
3. RIS+ =1 HfE— W EK TR TBL. b

MR 1—2 Fin. K A TS — R TA P(x.y)
% PCyy) UK FHMERN A=(22) + (2y) =4zy; A 5

P AEMAE L JASH (o) B0 2 M B B+ 2= 1,

=Y

By = (1- %) =S @ =) KT y=LvaT== —
(B y>0). Bi bk A=dzy="2 (a' —2*) (0<z<a).

4. FEG AR BN N o AT LA, BAE N kT Bt a 4
A A Bk TE SRIE S B ) R R

R REEEIHRECRMT

ks, 0<s<a

,

m= 4
ka—‘—gk(s—a), s=>>a

XEEN m MR s 0 RBOCRE S BRBEERTR K, E A (0, +00),




